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QUESTION 1

Your IT department wants to cut down storage costs, but also meet compliance requirements as set up by the central
audit group. You have a legacy bucket with both Word does (*.docx) and Excel files (*.xIsx). Your auditors want to retain
only Excel files for compliance purposes. Your IT departments wants to keep all other files for 365 days only. What two
steps can you take to meet this requirement?

A. Create Object Storage Lifecycle rules to archive objects from the legacy bucket after 365 days without any pattern
matching

B. Create Object Storage Lifecycle rules to delete objects from the legacy bucket after 365 days with a filter type -
include by pattern: \\\\'.docx

C. Itis not possible to meet this requirement

D. Create Object Storage Lifecycle rules to delete objects from the legacy bucket after 365 days with a filter type -
exclude by pattern: \W\\'.xIsx"

E. Create Object Storage Lifecycle rules to delete objects from the legacy bucket after 365 days without any pattern
matching

Correct Answer: BD

Object Lifecycle Management lets you automatically manage the archiving and deletion of objects. By using Object
Lifecycle Management to manage your Object Storage and Archive Storage data, you can reduce your storage costs
and the amount of time you spend managing data. Use object name filters to specify which objects the lifecycle rule

applies to. You can add object filters in any order. Object Lifecycle Management evaluates the precedence of the rules
as follows: Pattern exclusions Pattern inclusions Prefix inclusions

QUESTION 2

Which two tools would you use to manage Database Cloud Service (DBCS)? (Choose two.)
A. psql

B. Oracle Swingbench

C. SQL Developer

D. Oracle Enterprise Manager

Correct Answer: CD

QUESTION 3
Which option lists Virtual Cloud Networks (VCNSs) that can be peered?
A.VCN A (172.16.0.0/24) and VCN B (172.16.0.0/28)

B. VCN A (10.0.0.0/16) and VCN B (10.1.0.0/16)
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C. VCN A (10.0.2.0/16) and VCN B (10.0.2.0/25)
D. VCN A (10.0.0.0/16) and VCN B (10.0.16.0/24)

Correct Answer: B

QUESTION 4

You currently manage an e-commerce application that utilizes 25 identical compute resources to handle customer
traffic. The stakeholders have asked you to create another 25 identical compute resources in order to deploy and test a
new version of the software? What is the most efficient process to create 25

additional compute resources that are identical to the first 25?

A. Create a custom image from 1 of the 25 servers. Use this custom image to provision 25 more servers

B. Create a manual backup of each boot volume belonging to the 25 servers. Restore each backup to create 25 new
boot volumes, from which you will provision 25 more servers

C. Provision a new server and configure it to be identical to the first 25. Create a custom image from the new server,
then use the custom image to provision 24 more servers

D. Clone the boot volume of 1 of the 25 servers. Use the boot volume clone to provision 25 more servers

Correct Answer: A

QUESTION 5

Which three actions are required to configure a highly available and secure hybrid network between Oracle Cloud and
your data center? (Choose three.)

A. Define a non-overlapping IP Address Space between the data center and the cloud.
B. Configure each of the CPEs to leverage each of the IPSec Tunnels created by the connection process.

C. Create two or more CPEs that map to the private IP addresses of the customer routers used in the IPSec VPN
Tunnel.

D. Define a default route table entry for the VCN that directs all traffic to the data center network to a single DRG.
E. Create dynamic routing gateways in more than one AD within your region.
Correct Answer: ABC

https://docs.cloud.oracle.com/iaas/Content/Network/Tasks/configuringCPE.htm
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